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 !" 550.8.01 

 .!. "#$%#&', !.(. )*+&#,-%#& 

 !"#$%&' ()$*+,"$-.!//0' -!1/&2!$%&' */&.!"$&-!- 

"./01 213013454(.6 ( 21 "75(38 1 9"343: 

15!;1!(08 / 9. ;<75"0=010=0" !073) >!)08 

=5215!!33 ! 213>5(5(35> "510:4(0!4(0-

!4 43!43?5!)36 >540=0" 

3!4-!(,5)/)$/)$-6 7)8&%,#$%)' +!9"!$$&& &#!!- 5)/,86/0' 1,",%-!", %)-)"0' ):*$8).-

8!/ )$):!//)$-;#& !! (!)8)(&2!$%)() $-")!/&;: /, !! -!""&-)"&& . 9)5+/!4",/$%)-4,#!/$%)! 

."!#; $4)"#&").,8&$6 -!%-)/)-$!+&#!/-,<&)//0! 9)+/;-&;, , . 9!"#$%)! ."!#; – $)8;/,; 

-)8=,. >,% %,% !! 98)=,+6 . /,$-);=!! ."!#; ;.8;!-$; +)$-,-)2/) 1)")?) &5*2!//)', & $))--

.!-$-.!//) /,%)98!/ :)86?)' ):@!# &/4)"#,<&&, 9)A-)#* .)5#)B/) 9"&#!/!/&! .!");-/)$-/)-

$-,-&$-&2!$%&1 #!-)+). +8; )9"!+!8!/&; /,&:)8!! 9!"$9!%-&./01 . )-/)?!/&& /!4-!(,5)/)$-

/)$-& *2,$-%).. 

 

#$%&'()* (%+* – ',+%-* .$/,$012-3+45)* %$6)1., 718,1&9 3 .+',1:-

5$$ 3%$&: %+;3),): %$'9%'.1* 2+;- 96<$3101%1013 :3<:$,': .+'95.1* ;+0+-

=$*. > 8,1& 1,.1?$.)) .+)21<$$ 7$%'7$(,)3.1* :3<:$,': ,$%%),1%): @1<)-

(+&'(1* 0$7%$'')), ,+( (+( );3<$(+$&-$ %$'9%'- .$/,) (+,$61%)) @3 <)?A 3 

$$ B$.,%+<A.1* =+',) 1B$.)3+4,': 21<$$ =$& 50 &<. ,. > 0+..1* %+21,$ 7%1-

310),': 1B$.(+ .$/,$6+;1.1'.1',) @1<)(+&'(1* 0$7%$'')) ' 71&15A4 71-

',%1$.): 3$%1:,.1',.1-',+,)',)=$'()C &10$<$* ) 17%$0$<:4,': 7$%'7$(,)3-

.-$ 9=+',() 0<: 7%13$0$.): 6$1<161-%+;3$01=.-C %+21,. 

@1<)(+&'(+: 0$7%$''): %+'71<1D$.+ 3 '$3$%.1* =+',) #$%&'(161 (%+: 

) 7%1,:6)3+$,': 3 &$%)0)1.+<A.1& .+7%+3<$.)) ' '$3$%+ .+ 46. E.+ 7%$0-

',+3<:$, '121* (%97.94 .+<1D$..94 1,%)B+,$<A.94 ',%9(,9%9 ' %+;&$%+&) 

230×(60–80) (&, '/1%&)%13+3?94': 3 %+..$7$%&'(1$ 3%$&:. E'12$..1',A4 

@1<)(+&'(1* 0$7%$'')) :3<:$,': .+<)=)$ >$%C.$(+&'(161 &$',1%1D0$.): 

(+<)*.1-&+6.)$3-C '1<$* (>"F"@), 7%)9%1=$..161 ( $$ B$.,%+<A.1* =+',). 

G$/,$6+;1.1'.1',A @1<)(+&'(1* 0$7%$'')) 3 7$%394 1=$%$0A 129'<13-

<$.+ %+'7%1',%+.$.)$& "+&'(1-").$<A'(1* ')',$&- 7%16)213 (""@#) 

) 3<):.)$& '1<:.1* ,$(,1.)() >$%C.$(+&'(161 &$',1%1D0$.):. G+ )''<$-

09$&1* ,$%%),1%)) 3-0$<:$,': H*3).'(1->)?$%'()* 7%16)2, 16%+.)=$..-* 
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,$(,1.1-'$0)&$.,+B)1..-&) 3-',97+&): I$%0-.'()& – .+ '$3$%1-;+7+0$, 

J$D'()& – .+ '$3$%1-31',1($,  .A3).'()& ) K$%$;.)(13'()& – 3 B$.,%$. 

> 7%$0$<+C 8,)C 710.:,)* :%(1 3-%+D$.- 71;0.$/%+.'(1-/+&$.'()$, 7%$-

)&95$',3$..1 3-'1(1+&7<),90.-$, 1%6+.16$..-$ 71',%1*(). @,%9(,9%- 

12<$(+.): .+0 .)&) ) 71'<9D)<) <139?(+&) 0<: '(17<$.)* 96<$3101%1013. 

@1<:.-$ 71%10- '1;0+<) 2<+617%):,.-$ 6$10).+&)=$'()$ ) ,$%&12+%)=$-

'()$ 9'<13): 0<: /1%&)%13+.): ) '1C%+.$.): ;+<$D$* .$/,). > 7%1B$''$ 

'31$61 /1%&)%13+.): 3 %+..$7$%&'(1$ 3%$&: '1<:.+: ,1<5+, 716%9;)3?)'A 

.+ 17%$0$<$..-$ 6<92).- 3 12<+',A (%),)=$'()C ,$&7$%+,9%, 7103$%6<+'A 

7%$12%+;13+.)4 ) 7%)12%$<+ '31*',3+ .+0$D.1* 71(%-?(). 

#1 @1<)(+&'(1* 0$7%$'')) .+(17<$. 21<A?1* 12L$& )./1%&+B)) 

1 6$1<16)=$'(1& ',%1$.)) ) .$/,$6+;1.1'.1',), 718,1&9 7%)&$.$.)$ 3$%1:,-

.1',.1-',+,)',)=$'()C &$,1013 7%16.1;+ :3<:$,': 121'.13+..-& ) 8//$(-

,)3.-&. K-<+ '12%+.+ 2+;+ 0+..-C 71 3'$& ',%9(,9%+& @1<)(+&'(1* 0$7%$'-

')), 2-3?)& 3 29%$.)), ); (1,1%-C 55 1(+;+<1'A .$/,:.-&) ) 35 – 79',-&). 

#%) 7%16.1;$ .$/,$6+;1.1'.1',) 0<: 71',%1$.): 3$%1:,.1',.1-

',+,)',)=$'()C &10$<$* 0<: 3'$* ,$%%),1%)) @1<)(+&'(1* 0$7%$'')) )'-

71<A;13+<)'A (%),$%)) .$/,$6+;1.1'.1',), (1,1%-$ 2-<) 9'<13.1 %+;0$<$.- 

.+ %$6)1.+<A.-$, ;1.+<A.-$ ) <1(+<A.-$. 

 !"#$%&'(%)! *+#,!+## %!-,!"&.$%$/%$/,#: %+'',1:.)$ 1, B$.,%+ 

',%9(,9%- 01 1'$31* <).)) 0$7%$'')1..1* =+',) ""@# (L""@#); %+'',1:.)$ 

1, B$.,%+ ',%9(,9%- 01 2<)D+*?$61 %+;<1&+ 71 /9.0+&$.,9 (L%+;<); %+'',1:-

.)$ 1, B$.,%+ ',%9(,9%- 01 2<)D+*?$61 .$1,$(,1.)=$'(161 %+;<1&+ (L.$1); 

961< 0<)..1* 1') ',%9(,9%- ( 1'$31* <).)) 0$7%$'')1..1* =+',) ""@# 

( ""@#); 961< 0<)..1* 1') ',%9(,9%- ( 2<)D+*?$&9 %+;<1&9 71 /9.0+&$.,9 

( %+;<); (18//)B)$., .$1,$(,1.)=$'(1* +(,)3.1',) (0..+); +2'1<4,.+: 1,&$,(+ 

;+<$6+.): /9.0+&$.,+ (ME/); +2'1<4,.+: 1,&$,(+ %$<A$/+ (ME%); &15.1',A 

1'+01=.161 =$C<+ (m1). 

#1 8,)& (%),$%):& ' 71&15A4 &$,1013 ',+,)',)() 2-<) 17%$0$<$.- 

).,$%3+<- %+'7%$0$<$.):, '%$0.)$ ;.+=$.): ) (%),$%)* @,A40$.,+, (1,1%-* 

C+%+(,$%);9$, %+;<)=)$ 3 3-21%(+C 039C (<+''13 – .$/,:.-C ) 79',-C ',%9(-

,9% (,+2<. 1). 
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N+2<)B+ 1 

 !"!#$!#%&$'#& (")"'!&)#$!#'# )&*#+,"-.,/( ')#!&)#&0 

@,%9(,9%-* 
#1(+;+,$<A 

.$/,:.-$ 79',-$ 

t-(%),$%)*** 

p 

L""@#, & 38937,1±18912,3 

9714,5–81267,7 

48167,2±22990,7 

15687,0–82364,4 

–2,07 

0,041 

L%+;<, & 3941,16±2888,52 

145,17–11279,31 

5086,61±3016,83 

274,11–12226,35 

–1,80 

0,075 

L.$1, & 1366,97±1117,66 

58,82–4395,29 

1308,92±1108,15 

3,83–4266,36 

0,24 

0,810 

 ""@#, 6%+0. 189,25±104,56 

3,0–360,0 

181,29±91,16 

4,0–332,0 

0,37 

0,712 

 %+;<, 6%+0. 189,73±117,74 

7,0–434,0 

139,40±101,63 

3,0–406,0 

–2,08 

0,040 

0.+, 9'<.$0. 8,89±1,11 

7,04–11,81 

9,36±0,96 

7,63–11,21 

–2,04 

0,045 

ME/, & –4611,78±550,83 

–6425–(–3515) 

–4576,83±642,07 

–6037–(–3597) 

–0,28 

0,784 

ME%, & 163,09±27,61 

120–220 

169,14±29,24 

120–220 

–0,99 

0,325 

m1, & 4774,87±559,05 

3715,0–6625,0 

4745,97±650,06 

3737,0–6237,0 

0,22 

0,823 

* O0$'A ) 0+<$$ 3 =)'<),$<$: '%$0.$$ ;.+=$.)$ ± ',+.0+%,.1$ 1,(<1.$.)$; 3 ;.+&$.+,$<$ – %+;&+C 

;.+=$.)*. ** "9%')31& 3-0$<$. ;.+=)&-* t-(%),$%)*. 

 

#1 0+..-& ,+2<)B- 3)0.1, =,1 0<: .$/,:.-C ',%9(,9% C+%+(,$%.1 

&$.A?$$ %+'',1:.)$ 01 "+&'(1-").$<A'(1* ')',$&- 7%16)213, 01 %$6)1-

.+<A.-C %+;<1&13 71 /9.0+&$.,9, &$.A?)* (18//)B)$., .$1,$(,1.)=$'(1* 

+(,)3.1',), =$& 0<: 79',-C ',%9(,9%. N+(D$ ;.+=)&-& :3<:$,': 961< ( %+;-

<1&9 71 /9.0+&$.,9, (1,1%-* 21<A?$ 0<: .$/,:.-C ',%9(,9%. #1 1',+<A.-& 

(%),$%):& (<+''- ',%9(,9% .$ %+;<)=+4,':. 

> (+=$',3$ .$%&'(%)1 *+#,!+#!2 %!-,!"&.$%$/%$/,# )'71<A;13+<)'A 

'<$0945)$ 7+%+&$,%-: &15.1',A ,9<A'(1* (+%21.+,.1* 71(%-?() (#,<); +2-

'1<4,.-$ 1,&$,() ;+<$6+.): (%13<) 1,%+D+45)C 61%);1.,13 (ME_D,, 

ME_D3, ME_C1v, ME_C2b, ME_C2vr, ME_P1); &15.1',) .$/,$6+;1.1'.-C 

(1&7<$('13 (m_D,, m_D3, m_C1v, m_C2b, m_C2vr, m_P1). #1<9=$..-$ ).-

,$%3+<- %+'7%$0$<$.): ;1.+<A.-C 7+%+&$,%13 7%$0',+3<$.- 3 ,+2<. 2. 
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N+2<)B+ 2 

 !"!#$!#%&$'#& (")"'!&)#$!#'# 1+,"-.,/( ')#!&)#&0 

@,%9(,9%- 
#1(+;+,$<A 

.$/,:.-$ 79',-$ 

t-(%),$%)* 

p 

#,<, & 11,07±7,73 

0,22–36,01 

7,67±4,70 

0,0–16,67 

1,60 

0,115 

m_D,, & 36,82±21,23 

8,90–82,90 

34,88±24,09 

8,0–92,0 

0,33 

0,744 

ME_D,, & –2223,9±357,5 

–2688,5–(–1618,9) 

–2017,5±393,2 

–2901,3–(–1567,2) 

–2,10 

0,040 

m_D3, & 403,67±138,67 

55,80–608,70 

305,81±145,07 

7,0–471,90 

3,15 

0,002 

ME_D3, & –1840,35±286,03 

–2219,6–(–1163,0) 

–1737,29±373,43 

–2499,5–(–1181,7) 

–1,45 

0,149 

m_C1v, & 131,68±76,64 

2,0–370,80 

155,96±149,19 

5,0–773,80 

–0,99 

0,320 

ME_C1v, & –1804,78±273,56 

–2147,0–(–1161,0) 

–1693,30±347,48 

–2380,6–(–1127,7) 

–1,67 

0,099 

m_C2b, & 220,04±79,80 

69,0–397,60 

232,48±108,00 

54,70–400,0 

–0,62 

0,539 

ME_C2b, & –1487,0±279,03 

–1803,0–(–841,20) 

–1354,0±351,54 

–2010,70–(–831,70) 

–1,96 

0,054 

m_C2vr, & 233,33±26,17 

146,0–293,50 

228,54±38,03 

71,0–304,60 

0,70 

0,487 

ME_C2vr, & –1417,01±277,76 

–1735,0–(–774,30) 

–1283,98±350,03 

–1934,80–(–763,70) 

–1,97 

0,052 

m_P1, & 441,55±82,33 

319,90–655,90 

455,05±130,99 

268,0–750,90 

–0,59 

0,556 

ME_P1, & –804,59±235,02 

–1114,20–(–281,0) 

–647,81±260,24 

–1175,30–(–167,70) 

–2,91 

0,04 

O0$'A 3)0.1, =,1 71 3'$& 1,%+D+45)& 61%);1.,+& 1,&$=+$,': 21<$$ 6<9-

21(1$ ;+<$6+.)$ 0<: .$/,:.-C ',%9(,9%, =$& 0<: 79',-C. F15.1',) 0<: 79'-

,-C ) .$/,:.-C ',%9(,9% .$ %+;<)=+4,':, (%1&$ &15.1',) 3$%C.$0$31.'(1-

,9%.$*'(161 (1&7<$('+, ( (1,1%1&9 7%)9%1=$.- <139?() &+'')3.161 ,)7+, =,1 

129'<13<$.1 %+;3),)$& 3-'1(1+&7<),90.-C %)/16$..-C 71',%1$( 3 8,1 3%$&:. 

P1(+<A.-$ (%),$%)) .$/,$6+;1.1'.1',): 7<15+0A ',%9(,9%- 71 '1-

3&$5$..1&9 (1.,9%9 (S(); 0<).- 0<)..1* ) (1%1,(1* 1'$* ',%9(,9%-, )C '1-

1,.1?$.)$ (L0<, L(, 0); +&7<),90- ',%9(,9% 71 (%13<:& 1,%+D+45)C 61%)-

;1.,13 (A_D,, A_D3, A_@1v, A_C2b, A_C2vr, A_P1); 7<15+0) ',%9(,9% 71 

(%13<:& 1,%+D+45)C 61%);1.,13 (S_D,, S_D3, S_C1v, S_C2b, S_C2vr, S_P1); 

).,$.')3.1',) ',%9(,9% 71 1,%+D+45)& 61%);1.,+& (I_D,, I_D3, I_C1v, 

I_C2b, I_C2vr, I_P1). 

Q.,$%3+<- %+'7%$0$<$.):, '%$0.)$ ;.+=$.): ) (%),$%)) @,A40$.,+ 71 

<1(+<A.-& C+%+(,$%)',)(+& 7%$0',+3<$.- 3 ,+2<. 3. 
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N+2<)B+ 3 

 !"!#$!#%&$'#& (")"'!&)#$!#'# -+'"-.,/( ')#!&)#&0 

@,%9(,9%- 
#1(+;+,$<A 

.$/,:.-$ 79',-$ 

t-(%),$%)* 
p 

S(, (&
2 

9,91±11,27 
0,27–57,35 

4,14±2,01 
0,90–8,77 

2,99 

0,004 

L0<, & 3962,21±2303,89 
849,46–10418,39 

3000,64±917,46 
1144,61–4839,70 

2,35 

0,021 

L(, & 2435,01±1533,47 
397,99–7448,08 

1691,22±424,50 
996,30–2835,58 

2,80 

0,006 

0, 0.$. 1,73±0,52 
1,07–3,15 

1,81±0,51 
1,06–3,34 

–0,66 
0,510 

A_D,, & 21,33±13,57 
8,0–40,0 

25,12±22,43 
7,0–100,0 

–0,39 
0,704 

S_D,, (&
2 

9,50±8,55 
2,60–26,20 

9,98±10,41 
2,20–40,0 

–0,10 
0,920 

I_D,, &/(& 7,02±2,49 
4,91–11,59 

9,03±6,03 
3,16–20,87 

–0,78 
0,441 

A_D3, & 81,77±38,98 
8,0–150,0 

33,44±22,72 
7,0–100,0 

6,47 

0,000 

S_D3, (&
2
 17,66±17,11 

1,40–71,30 
9,55±9,03 
2,20–40,0 

2,52 

0,014 

I_D3, &/(& 23,42±13,00 
4,91–54,91 

12,95±9,38 
3,02–41,83 

4,00 

0,000 

A_@1v, & 77,63±38,91 
8,0–150,0 

34,26±22,67 
7,0–100,0 

5,82 
0,000 

S_C1v, (&
2
 18,59±28,90 

0,50–192,50 
9,53±9,04 
2,20–40,0 

1,76 
0,082 

I_C1v, &/(& 23,04±12,62 
4,91–56,57 

13,20±9,21 
3,0–40,41 

3,86 

0,000 

A_C2b, & 61,88±31,66 
8,0–120,0 

27,65±20,12 
3,0–100,0 

5,53 

0,000 

S_C2b, (&
2
 17,99±27,92 

1,40–185,0 
8,63±8,88 
2,10–40,0 

1,88 
0,063 

I_C2b, &/(& 18,34±10,01 
2,65–48,18 

10,94±7,16 
1,34–29,88 

3,69 

0,000 

A_C2vr, & 49,04±26,21 
8,0–120,0 

25,33±21,10 
2,0–100,0 

4,29 

0,000 

S_C2vr, (&
2
 16,36±26,92 

1,40–180,0 
7,73±8,62 
2,0–40,0 

1,78 
0,080 

I_C2vr, &/(& 15,49±8,34 
2,65–37,95 

11,30±10,66 
1,15–57,97 

1,96 
0,054 

A_P1, & 34,66±23,98 
7,0–130,0 

22,20±21,48 
5,0–100,0 

2,08 

0,042 

S_P1, (&
2
 11,03±10,46 

1,20–52,50 
7,81±9,32 
0,30–40,0 

1,24 
0,221 

I_P1, &/(& 4,20±2,91 
0,85–15,76 

2,69±2,61 
0,61–12,13 

2,08 

0,042 
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M.+<);)%9: ,+2<. 3, &1D.1 '(+;+,A, =,1 '%$0.)$ 7<15+0) .$/,:.-C 

',%9(,9% 7%$3-?+4, '%$0.)$ 7<15+0) 79',-C ',%9(,9% 21<$$ =$& 3 2 %+;+. 

N+(D$ 0<: .$/,:.-C ',%9(,9% C+%+(,$%.- 21<A?)$ ;.+=$.): 0<). 1'$*. 

@11,.1?$.)$ 0<). 1'$* %1<) .$ )6%+$,. > B$<1& 71 3'$& 1,%+D+45)& 61-

%);1.,+& +&7<),90-, 7<15+0) ) ).,$.')3.1',) 0<: .$/,:.-C ',%9(,9% 

21<A?$, =$& 0<: 79',-C ',%9(,9%. !1',+,1=.1 &.161 71(+;+,$<$* )&$4, 

;.+=)&-* t-(%),$%)*. 

!+<$$ ' 71&15A4 7%)&$.$.): 71?+613161 0)'(%)&).+.,.161 ) %$6%$'-

')1..161 +.+<);13 2-<) 71',%1$.- 9%+3.$.): 0<: 17%$0$<$.): 3$%1:,.1',) 

.$/,$6+;1.1'.1',) 71 %$6)1.+<A.-&, ;1.+<A.-& ) <1(+<A.-& 71(+;+,$<:&: 

 %$6 = 1,3660 – 4,64·10–6
L""@# + 7,48·10–4 %+;< – 7,63·10–2

K..+ + 3,27·10–6
L.$1,  

F% > F,; R = 0,991; p = 0,000; 

 ;1. = 0,3481 + 2,18·10–3
m_D3 + 1,59·10–3

m_C2b + 2,13·10–3AO_D3 +  

+ 1,21·10–2#,< – 1,99·10–3ME _@2vr, F% > F,; R = 0,88; p = 0,000; 

 <1( = 0,0341 + 4,41·10–3
A_D3 + 1,01·10–2

S( + 2,71·10–3
A_C1v,  

F% > F,; R = 0,98; p = 0,000. 

#1(+;+,$<) 3C10:, 3 &10$<A 3 71%:0($ )C ;.+=)&1',). >'$ 71',%1$..-$ 

9%+3.$.): :3<:4,': ',+,)',)=$'() ;.+=)&-&) ) )&$4, 3-'1()* (18//)B)-

$., (1%%$<:B)). 

N+(D$ 2-<1 71',%1$.1 9%+3.$.)$ (1&7<$('.1* 3$%1:,.1',) .$/,$.1'-

.1',), (1,1%1$ )&$$, '<$0945)* 3)0: 

P(1&7 = –0,222 + 08606 <1( + 0,4841 %$6 + 0,0785  ;1.,  

F% > F,; R = 0,91; p = 0,000. 

G+ 1'.13$ 71<9=$..1* &10$<) 2-<) 17%$0$<$.- (1&7<$('.-$ 3$%1:,-

.1',) .$/,$6+;1.1'.1',) 0<: ',%9(,9% @1<)(+&'(1* 0$7%$'')) ) 71',%1$.+ 

'C$&+ %+'7%$0$<$.): 3$%1:,.1',) (%)'9.1(). O0$'A 3)0.1, =,1 .+)21<$$ 7$%-

'7$(,)3.+: ;1.+ 3-0$<:$,': 3 B$.,%+<A.1* =+',) @1<)(+&'(1* 0$7%$'')), 

7%)9%1=$..1* ( >$%C.$(+&'(1&9 &$',1%1D0$.)4 (+<)*.1-&+6.)$3-C '1<$*. 

#1 71',%1$..-& &10$<:& 2-<) 3-=)'<$.- (1&7<$('.-$ 3$%1:,.1',) 

.$/,$6+;1.1'.1',) 0<: 71061,13<$..-C ',%9(,9% @1<)(+&'(1* 0$7%$'')) 

) 7%13$0$.1 )C %+.D)%13+.)$ (,+2<. 4). 
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P(1&7

0,011–0,121
0,121–0,231
0,231–0,34
0,34–0,45
0,45–0,56
0,56–0,67
0,67–0,78
0,78–0,89
0,89–1
!+..-$ 1,'9,',394,

 

 – 71061,13<$..+: ',%9(,9%+  – 6%+.)B+ >"F"@ 

R)'. @C$&+ %+'7%$0$<$.): 3$%1:,.1',) .$/,$6+;1.1'.1',)  

.+ ,$%%),1%)) @1<)(+&'(1* 0$7%$'')) 
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N+2<)B+ 4 

2+34-&'$,/& 0&)+5!,+$!# 4+6*+!+0-&,,/( $!)7'!7) 

G+;3+.)$ ',%9(,9%-  (1&7 G+;3+.)$ ',%9(,9%-  (1&7 

R1',13)B(+: 0,998 K%9'.)=.+: 0,519 

O-%:.'(+: 0,996 >1',1=.1-#+?(13'(+: 0,515 

P$6=)&'(+: 0,993 G131<1613'(+: 0,462 

#+?(13'(+:  0,857 M%)',13'(+: @ 0,437 

!1<6+:  0,845 >1',1=.1-K$<A'(+: 0,412 

O+7+0.1-!1<6).'(+: 0,832 "<$',13'(+: 0,389 

#%1/)<A.+: 0,815 SD.1-T)<).'(+: 0,361 

>1',1=.1-!1<6).'(+:  0,760 M%)',13'(+: S 0,346 

K1<A?$')&'(+: 0,723 O+7+0.1-E;$%.+: @ 0,345 

J1<9C).'(+: 0,571 O+7+0.1-E;$%.+: S 0,345 

@$3$%1-I+?().'(+: 0,551   

 

#1 0+..-& ,+2<. 4 3)0.1, =,1 .+)21<$$ 7$%'7$(,)3.-&) 3 1,.1?$.)) 

.$/,$6+;1.1'.1',) :3<:4,': R1',13)B(+:, O-%:.'(+:, P$6=)&'(+: ) #+?(13-

'(+: ',%9(,9%-. G$12C10)&1 1,&$,),A, =,1 8,) ',%9(,9%- .+C10:,': 3 7%$0$-

<+C %+'7%1',%+.$.): (+<)*.1-&+6.)$3-C '1<$*. 

N+()& 12%+;1&, ',+,)',)=$'()* +.+<); 71(+;+<, =,1 .+)21<A?)& 9'7$-

C1& 2909, 12<+0+,A 71061,13<$..-$ ',%9(,9%-, 7%)9%1=$..-$ ( >$%C.$(+&-

'(1&9 &$',1%1D0$.)4 '1<$*. G1 7%) 8,1& '<$09$, 1,&$,),A, =,1 29%$.)$ .+ 

8,)C ',%9(,9%+C 290$, 31;&1D.-& <)?A 7%) '12<40$.)) 17%$0$<$..-C 9'-

<13)* 71 1C%+.$ '1<$*. 

 

#1<9=$.1 27.04.2010 


